HIEC| et 2 IS RIoH0 A S2 0| FHHEE &+ JUELICE ZA12 0| RaE RFE &2I6H = 0[&3FA|7| HIELICE KP 2208

— TI-P081-03
splra CMGT Issue 8
sarco

Fig 3716 AE&|L}

| ked
Fig 3716 AEZ|L= FoEATH A2l YEIY AELZM ATF FHH
= SHAA0ICE. DN15~DN80 #42| 42 #& 2322 0.8 mm LS HH0|
0, DN100~DN200 742! A< 1.6 mm CHEEO| EZO0|C J2iLt QF A
CHE CHSTHO|LE O+ A3219| S8 & 7+SSHTh

QF Al AEZ|Lt 0| ERROIR Ee 2301 HE 43|
55

[k, -

i
Ho
o
Tifor
N
Of
=]
N

Bz
0| A|&2 EU Pressure Equipment Directive/UK Pressure Equipment
(Safety) Regulations)2| @722 20 QA A| (€ 0IFE SHISiCL

AN

HAZ S EN 10204 3.1 M AM0| &4+50| 7H53ICt.
T RE HAM U RISME HIEA 2 Al FY[SHT

-

® MeiARes

AERY L} AR

1.6 mm (DN15~DN80)

CHamt
AR AL AT2 3.0 mm (DN15~DN200)
0|5 40, 100, 200
0.8 mm (}5"~3")
ow A3z I 1.6 mm (4"~8")
3.0mm (15"~8")
ol 4 100
EZQLIR E=CQl e HAA
EZQ0R2 e QI HEES AT £ UEE AERLE 240f Of2 Lo HETLE 7taE £ QUL & A5 2ol 4|0 E7H8 % 7ts3ICt
O[2{3 MEHAIYS 27t H| 80| LAHSIT
AEFL Y EZQCt2 e Egjol e AL
DN15~DN20 3" 3 Iz
DN25~DN32 iz %" Vi
DN40~DN80 %" %" s
DN100~DN200 1 1 174

® 77 3 vz
DN15, 20, 25, 32, 40, 50, 65, 80, 100, 125, 150, 200

EHAIAEN 1092 PN16, KS10%, ASME 150+

*KS10, ASME 150 ETHAAI9] 22 DN15~DN40 142 SaklA| Y=L

First for Steam Solutions

EXPERTISE ‘SOLUTIONS ‘ SUSTAINABILITY



sPIra)(SGI'CO

o Az

Hs BE e
Body SGiron DIN 1693 GGG40
Cap SGiron DIN 1693 GGG40

Reinforced exfoliated graphite

Strainer screen

Austenitic stainless steel ASTM A240 316L

1
2
3 Capgasket
4
5

Bolts

Carbon steel BS 3692 Gr8.8

@ YH/2:

ron

A

e T

300

250 \

200 AN
150
1 00_4

50

A

-10

T O E2 2E0MO E43 HIAES FIHHIE0| QL EILh O ARNRE AFRF2 A0[RI AALTOf| ZOIBHLE.
SAEAZH PN16

=
o |y
n
T
<
Z

300 'C@ 12.3barg

-
- |==
Al e 4

16barg @ 100 °C

ol | ol | ol

il

-10°C

B | b | b | po
b

oo (0o |00 |olo
fo

| H

ch

>

300 'C@ 12.3barg

16barg @ 100 °C

AR 2 _

[EHAFE == (TMO) (Z3t3719l 4= 15 barg @ 2017T)
HLAERE -10C
SUA LS 24 barg
TI-P081-03 / CMGT Issue 8 Fig 3716 AE#{|Lt Page2of4



sPIra)(SGI'CO

OK iU

74 DNI5 DN20 DN25 DN32 DN40 DN50 DN65 DN8O DNI0O0 DN125 DN150 DN200
CHE0.8,1.6,3mm 5 8 13 22 29 46 72 103 155 237 340 588

40,100 03] 5 8 13 22 29 46 72 103 155 237 340 588

200 0ij4] 4 6 10 17 23 37 58 83 124 186 268 464

C, (UK) =K,x0.963, C, (US) =K x 1.156

@ 5= mm H FH kg

s A A B c  ommy 2y

° PN16  ASME150 cm? kg
DN15 130 - 69 101 28 2.1 (] (]
DN20 150 - 82 125 46 2.9
DN25 160 - 90 140 79 3.8 \Q\/@/
DN32 180 = 114 198 135 6.6
DN40 200 - 127 210 161 9.0 T / 5
DN50 230 233 150 248 251 10.5 \\
DN65 290 288 162 263 325 175
DN80 310 311 178 272 360 20.0
DN100 350 - 210 323 540 24.0 B LJ L
DN125 400 396 253 393 840 38.0
DN1S0 480 482 293 454 1115 505
DN200 600 610 375 584 1905  88.0

, A

@ MY
APMISH B2 Al S 7 Al SEl= 2| 2 EH| A-AM(IM-S60-18)& =QIgtCh

%) FolAfe

AELh= SH 0| 22E|0f Q= 72 S5 %*EHE 2| =|0{0F BHC.

AR = ThA A|ARIO| B 2H0f| H2[ot= AR 22 LMY H{R|SHOF SFH UA| B 2H0l| H2|2l= HR 22 AHS ot S HR|5H0f S
QIS HH| & WA A S ol Ao AT HE & =R E0{0F BtLt.
Z{H| Hrt

AE2LHE YB[oP7| 0] B2k LH0f| 2= 0] ATHE|0f QIS EHRIR| ZHQIBICY. .

= AlE2 AHEE0| 7h-5ott A Zot Bt et 17 [ot= &2 Ot et ¢iel2 gl

=2 0
@ ==t

0l 1 off Spirax Sarco DN40 Fig 3716 strainer, flanged EN 1092 PN16 with austenitic stainless steel screen having 0.8 mm perforations and
flanged screen cap.

TI-P081-03 / CMGT Issue 8 Fig 3716 AE#||Lt Page3of4



smra)(sarco

@ AH|E=

o-lT&

SE/IeT YHIEE2 202 BAR ACH oMo 2 HAIE RE2 YHIREC 2 S5&[A| 4=t
3a/tsst YHIRE

Strainer screen
(FEAI2EY L FE Y AR YA, ChETE = Ol AFO[R FA|)

_

DN15~DN100 (packet of 3)

Cap gasket DN125~DN200 (1 off)

O = 4

—= O

=]
SN BEHSE FHIRE 0| YAIE REYS AT, AERLF TE Y AT WY, CHBE EE 04| AO|ZE BAISICE,

5
(

@ HIYAE ES
e H

25 2 2% | (O) mm % Nm
DN15, DN20 4 13 M8 x 20 15-20
DN25 4 13 M8 x 20 15-20
DN32, DN40 4 13 M8 x 20 15-20
DN50 4 17 M10 x 25 22-25
c DN65 4 17 M10x 30 22-25
DN80 6 17 M10x 30 22-25
DN100 6 19 M12 x 35 50 -60
DN125 8 19 M12 x40 50-60
DN150 8 19 M12 x40 50-60
DN200 8 24 M16 x 50 100-110

WEA: TEL(02)3489-3489, FAX 525-5766 W& : TEL(032)820-3000, FAX 032-811-6215 WSHZALIO|ZAALT (F+= 20|EQIS2(LRQA)
F 3 B B
SIZATOI™ A AL (F) © 296 1509001 (EHZHE), IS014001 (BHHAS), 1SO45001 (QHIBZZE), ISO50001 (HAIZE) QIZS 2S31ALLICE



